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When MP is zero, what can you say about TP?

a. TP is increasing b. TP is maximum

¢. TPis falling d. None of the abovos -
Marginal product refers to addition 1o total product when one more

a. Unit is produced b. Unit is sold

¢. Unit is consumed d. Unit of variable factor is emploved

Law of variable proportion is also known as
a. Law of returns b. Returns to variable factor
c. Law of returns to factor d. All of these

Which of the following is not a reason for operation of increasing returns to a factor
a. Better utilizatior of fixed factor b. Limitation of fixed factor

¢. Increase in efficiency of variable factor d. Indivisibility of fixed factor

Identify two cost curves which starts from the same point on the Y axis

a. TVCand TFC b. TFCand AVC

<. TFCand TC d. TFC and AFC

Average fixed cosls

a. Remain same at all levels of output b. Increase as output increases

¢. Decreases as output increases d. Initially increases and then decreases

Normal profits earned by a farm are included in:
a. Implicit cost b. Explicit cost
¢. Fixed cost d. Variable cost

If average revenue is a horizontal straight line, then marginal revenue curve will be:
a. Downward sloping b. Horizontal straight line
¢. Upward sloping d. Inversely S-shaped

If a seller gets Rs.10,000 by selling 100 units and Rs. 14000 by selling 120 units, his
Marginal revenue is

a. Rs. 4000 b. Rs. 450

c. Rs.200 d. Rs.100

Which of the following is not a type of market structure?

a. Competitive monopoly b. Oligopoly

¢. Perfect competition d. All of the above are types of market
structures.

Which of the following, is a barrier to entry that typically results in monopoly?
a. The firm controls the entire supply of  b. Production of the industry's product
a raw material is subject to economies of scale over a
broad range of output.
¢. Production of the industry's product d. The firm holds an exclusive
requires a large initial capital government franchise.
investment.
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